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Simul taneous Eguations and theis Applications

Find a2 values For = ooand v which satisfty each o+ the
following:—

Hty=&, H—y=0 = HEZw=F, —x+IZy==2

—ImLy =7, Zua4y=—2 4. 2Hx+Dy=1&, X—wy=1

BIr+4y=—7, 2Zx+y=—3 & 2x—5wv=1, 4dx—Sy=9

A —Sy=22, Tu+3Zyv=135 8. 2 +3ITy—B=0, BIx+2y=17
Tutdy—1=0, Sx»+2y+1=0 10, 2x—TFy=—3, BIx—Fy=-—1

Ex+2v=&6, mx—yw=1 12 22X Fy+2=0, w2y

Ir=Ly+12, yw=x—1 14 . Ax=Dy, 3Iv+7-95Sx

Ex—By=2, 7x+3IFIy=12 1&6. 1ix+3Ey+7=0, Z2x+DSy—21=0C
Tr+3ywy—15=0, Gx—2v=1% 18. SH—2v=6710, Zx4ty=58/2

Finmnd a sglution to the followings—

Sp+g=10, 14p+3g=18 Z20. s—BL+20=0, Scs—7t+1=0

The sum of the length and breadth of a vrectangle is S4cm.
The length is 1Bcm more than the breadth. Find the length
anmnd breadth.

Six bottles of juice and Four cans of juice cost £3.490.
Three bottles and ten cans of juice cost £4.90. ind the
cost of a single bottle and a single can.

A straight 1line has egquation v=mx+cC. (2,2) and (3,62 are
points orn the 1ine. Form & pair of eguations and solve them
to Find m and <. I+ the point (a,.14) lies on the lirnre, finag

B

the value of ~a +rom vou equation.

The height h metres above the ground reached by a missile
after t seconds is given by the eguation h=at+bht=. Find the
constants Ta? and b7 giwven that h=1%9 whaen t=1i, and when
=28 and t=2. Use the formula to calculate h whesn t=4.

What happens when t=4.87

480 people attend a heavy metal
are £40 and seats cost £&60 eacht
monay taken in was £25, 300 how many
how many were sitting?

concer t. Standing tickets
I+ the total amount [mh
people were standirna and

A record company has a machine X
A new machine Y
1+ 26,000 CDs were produced on a day when the total

of machine runming time was 18 hours,

minute.
minnute.
amaurt

which can make 30 CDs rer

is installaed which makes 40 CDhDs pevr

+for how many

houwurs was machine X operated for and machine Y operated for?
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